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| Part A

Answer all questions.
Each question carries 2 marks.

Draw the voltage follower circuit and explain it.
Write any four linear applications of op-amp.
Define sample and hold period.

Sketch the ideal characteristics of low-pass and band-pass filters.
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What is current foldback in regulators ?
(5 x 2 = 10 marks)
PartB |
Answer ahy four questions.
Each question carries 5 marks.
Explain the measurement of output resistance.in an op-amp.
Explain the working of weighted resistor DAC.
Explain the operation of precision half-wave rectifier.
Derive the transfer function of high-pass filter.
Explain the working of Schmitt trigger.
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Explain the current limit protection in IC regulators.
' (4 x 5 = 20 marks)
Part C

Answer all questions.
Each question carries 10 marks.

1. Explain the following applications of op-amp with neat sketches :
@) I/V converter.
-(ii) V/I converter.
(iii) Summer.

Or

Turn over
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Explain the operation of emitter coupled differential amplifier supplied with a constant current.
(a) Explain the operation of dual slope ADC with neat sketches. (8 marks)

(b) State the merits and demerits of successive approximation type ADC compared to dual slope
ADC.

(2 marks)

Or
(a) Explain the operation of sample and hold circuit with neat sketches. (8 marks)
(b) Draw the input-output waveforms for zero crossing detector and window detector.(2 marks)

Design a second order band-pass filter with a midband voltage gain of 34 dB, corner frequency
150 Hz and a 3 dB bandwidth B = 16 Hz.

Or
(é) Derive the transfer function of active RC band-pass filter. ‘ (6 marks)
(b) Obtain the frequency response characteristics of Active RC band-pass filter. | (4 marks)
Explain the working of VCO With neat sketches.
‘ Or
(a) Explain the operation of Schmitt trigger with neat sketches. (6 marks)
(b) Obtain the expression for time period of a Schmitt trigger. (4 marks) -

[4 x 10 = 40 marks]



